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Part - I11 |
sidleflwed / SCIENCE

(50 wOHMD hde eufl / Tamil & English Versicns)

Grird : 2% wanfl | [ Qurés wHUGLIETSET : 75

Time Allowed : 2%2 Hours ] : [Maximum Marks : 75
ofleyenr : (1) iemeiss elamss@Eshd sflurs SiFal udeurd o drersT Grsistug,mem

sllunisgs Qsrerarab. FaliuSeld Gopullmiea imns
sasrasiuurerfiLibd o Larnquirs Qsflelgseay.
) fob Sdog smUY avulmar LLHGWL eWEMUSHEGL,
24 5Csmg HeusH@Gd LwaBhi$s CeuamHibd. UL BISEH aUmesnE
Quendléd LweTLIHSSaLD.
Instructions : (1) Check the question paper for fairness of prinﬁng. If there is any lack of
fairness, inform the Hall Supervisor immediately. ‘

- (2) Use Black or Blue ink to write and underline and pencil to draw diagrams.

GOl : @eucilamsger ewestm) 9fesmers CararT g).
Note : This question paper contains three sections. '

19fley- I / SECTION - I

(wduCuemser : 15) / (Marks : 15)

@olly : () @uafede o erer 15 dlamésEnéEn eflepLwiel&Esa|b.  15x1=15.
() <eoLuys gilkada Csr@ssliul Gerer wrom eleLseafld
&ajd sflwuner elerLamwd CaibOsHhEs eT(PSaiLb.

Note : (i) Answer all the 15 questions.

(ii) Choose the correct answer from the alternatives given in the brackets.

[ Hpliys / Turn 6ver .
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Qunemss Gsieys Comlum’er Qeuefiudl Leui
(gmir@ey Lriredler, ablu,Car-ie-ailflav, HflsrGamaa @mmn_@) 36T LITLIGnL_G

QLDIITS)

The theory of Natural Selection was proposed by
(Charles Darwin, Hugo de Vries, Gregor Johann Mendel, ]ean Baptise Lamark)

Wss sGenwwrer wCoflwurg sriFFme o Haursen QarmevGuomguih S
(eGauGe, wCAGW, wredumy, @eieurden)

The most serious form of malaria is caused by Plasmodium ___
(ovale, malariae, falciparum, vivax)

sWESIL LGHude sraTliLBb @@ Brarsloerd &g

(@i famdd srnd, Gyt AF srong, esrmi® srog, semearuib) -
An endocrine gland found in the neck is |

(adrenal gland, pituitary gland, thyroid gland panc1eas)

L &H@GLD g;rrmr;réw;aﬂs&r urelerls Cumses wpenpudey EG&L@U@L&)’@‘Q‘;@ Blapey

(BmaymIsD, (panersse, WamHb o (Hairgd, Warhss Caréams)
In sexual reproduction of flowering plants, the first event involved in this is
(fertilization, germination, regeneration, pollination)

urgmigseldd ____ Cuml erdlilyg sé&deow sefsdng.
(Qerd @rds Heuli] SEmGHT, QIHs @@JGITGU)GITUJ@Q}&SBSGTT Qrss s

- oigsaat, (wdi Quss AliLaiése)

Which blood cells of mammals are concerned with immunity ?
(Young Erythrocytes, Leucocytes, Thrombocytes, Matured Erythrocytes)

TavIg 6T STHMLOTE FeUTFSSHaTTed 2 G Teug)

(@réiqs Sifleb, eumels llew, assamd, siflisd bleb)
The product obtained in the anaerobic respiration of yeast is

(Lactic acid, Pyruvic acid, Ethanol, Acetic acid)

Ligto erilQuUmBEss@E THESESTLH
(emdlyd, Gasdy, waeafdww, Hodsf)
An example for fossil fuel is

(copper, iron, magnesium, coal)



10.

11.

12.

13.

14.°
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Bilammed Lreyd Crmils@ aT(EESSTH SMHa :

(Qar) Ariig, Heflwryey Cuml, uriamed @mmun@ e Liumi®)
An example of water-borne disease is

(scabies, dracunculiasis, trachoma, typhoid)

Beors soruurarss CQaram.. sarsd Bré&smrsd @b, sriuaemL
FOMUMLE SOTLILTEITSES QST SFFe < GLD.

(Brésemraer, Brom samrsd)

A solution that contains water as the solvent is called an aqueous solution. If carbon

disulphide is a solvent in a given solution, then the solution is called
(aqueous solution, non-aqueous solution)

upflamsmeas SH&S BTD BIEEL UD FGass Geamr@Bb, HOWLTD
LwetuRSSLILBHL UHLIHS senenln Q& mesTL_gl.

(sifled, sry)

To protect tooth decay, we are advised to brush our teeth regularly. The nature of the
tooth paste commonly used is in nature.

(acidic, basic) -

epempreug cuflensulier sefomassr o dratar Sjeupbld ersgaman GaTEhISHT
o qTemest ?

(8 5)

The third period contains elements. Out of these elements, how many elements are
non-metals ?

8 5)

ugleflev i Lsbevrlem a1 4nGeupmientd allqeuld.
(nBLTEEN, STITLIGHT, F6oolliT)

Buckminister fullerene is the allotropic form of

(Nitrogen, Carbon, Sulphur)

Hell Lrinde 50 £.4). Hlenpujarer weaflgeamen eranL

(50 N, 35 N, 380 N, 490 N)

The weight of a person i is 50 kg. The weight of that person on the surface of the earth
will be

(50 N, 35 N, 380 N, 490 N)

268 Hupsmasaiid® o ederGurg _ wgly wom urduyseaer edlL
<ifls Qeulingens o L Heurdlpg.
(Qeuamenio, QEryllaryliumet, &Hepn, LOEhHEET)

surface absorbs more heat than any other surface under identical conditions.
(White, Rough, Black, Yellow) '

[ Sipliys / Turn over
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15.

4

gnruurieney @epurl el &f Qaiiw LwerUBE D).

(G Qaveinav, el Qaveied, @oT blq. G <big)
The defect of hypermetropia can be corrected by using a
(concave lens, convex lens, convex mirror, concave mirror)

njirﬂm- II / SECTION - II
(S LQuasaar : 40) / (Marks : 40)

GPlLy . gCsenib @pug améseErsa el weassayb. . 20x2=40

Note :

16.

17.

Answer any twenty questions.

BLEHEIn g1 LiaTLEET LD Apilansdh@erenn, Cufagdmn@arend wrmu@Eib.

Ep&amam)ib LIGRTLI& 6T 6T &GS Lorrguurr@a;m @a;rr@m@m@rrarr GTEud @'@ulﬁ]@as

@) walss saraier Hpb e, smiiy, usms, LQpLiLy erer -
wrou®Gdps. Qeleuams wrmpUT® _ erarliu(b.

() epwe, wrenar GuremeudPld SreTILIHD LD DenUiL '
wryuC(Herergl. @eleians LrmUT(Ha&eT ereniu@I.

The inheritable characters vary in different species and within '.fhe same species. Name

the variation in the following cases. :

The eye colour among the human beings are varied as blue, black, green, brown etc...

(i)  This is called as variation.

The dentition in the rabbit and the elephant are not the same.

(i) This is called as ~ 'variation.

urgouflwd srips da pédw GempEHluLsear EGip @é;rr@é;a;ﬁuﬁl@e'frmm‘
Siaupmer 2 Nuereupery CaibOsHSS eT(198!E.

(1vaSed, wrmUT@s6r, ApHarorsed, sSer, oiwelGaTbmia.L &)

(i) ; STrewtlser @uwini9uwie &wr'rﬁ;g, urrmbuxﬂu_lé; STTETGET 3, @GLD.
(ii) eranugl @Gy sSeflerm wrhms gmmmmn@w

Here are certain lmportant heredltary ]argons Fill in the blanks by choosmg a sultable
one from the list given.

(allele, variation, speciation, gene, allelomorphs)
@ are the factors which form the physical basis of inheritance.
(ii) is the alternate forms of the same gene. -



18,

19.

20.

5 ‘ 6180

%Qmedﬂg,sh(g)geb g,gj)aérr'a) weaflger euany ClarH&sLILIL weflg Garmiseer
aufleagliLidseaLb.

(Bwrewr_irge wafllger, CanrGrtandale, @@')W@LDH’ err&Lev, CaprGlom
Q&l_cﬂu_lasr)

Sequentially arrange the different species of man from primitive to modern man.

(Neanderthal man, Homo habilis, Homo erectus, Homo sapiens)

HIV—g{gés SefrL_ b opllie] HMLD &gﬁﬂu@(&,,@rb UG SHET WITEneL.

Name the tests done for the diagnosis and confirmation of HIV. .

&(peier LL &g cuanrhs Qasrr@asa;uul_(gmmmg)@a) @Umr@\ urrasrsw;mmas
ePsai.

’(Q&a) 2 L LD, &V, @l_@smq_lyrrm é\mmg,g, (g)lq_fqu u@ﬁa;en)

- Copy the dlagram and label any two parts in the group glven

(cyton, axon, dendron, terminal branches)

[ Swiiys / Turn over
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21, (1) uLid A HMID B @ SIHLITETD STes.

(=) A-wlerm erpsll LGS B 98 LTNEDS).

B
(a) Identify Fig. A and B.

(b)  Which part of A is modified into B ?

22, ur@nigsefld srewTliu(BLD L Sjenioli] wrgl ? wreneuller spsLd 6rHen
wryur ?

What type of dentition is seen in mammals ? What are elephant tusks ?



23.

24.

25.

26.

27.

7

o Lallen “wrevLi Qadlevl  eramy Amfrsn cﬂqmge%asl'_iu@laﬂm@ - SMFERTLD

ST DB TG!S

(=) eradlled Qupliu@hn marggs Ceaudlls QurpeaTsEsn AnbresdHa
Qupuu@®femmer.

<) fmpran @rsssder Caudulamuy soblowamwur Cuandng.

(@) fmfrsn, 2L dléed Qupb mass Ceudl QumrmdTsameruyd
QeuefGupmfmg

() AmBrab, 2 len manss Caudllt Quirmersemenud Caliss eeusss
Qarerdmg.

The Master Chemists of our body are the k1dneys Justify.

(@) Kidneys filter all chemicals in the body.

(b) Kidneys maintain the chemical composition of blood.

(c) Kidneys eliminate all chemicals absorbed by the body.

(d) Kidneys store the chemicals accumulated in the body.

Qréssder Werravior LGHuld sraiiu@n Werravwr HErrleeasar
epelanas Fnmis. seupPlen Laflgamenyd @GOHlLGGHs.

Name the three important blood proteins seen in plasma. Add a note on their functions.

FTEEDTE GEOTFD AOSADTONS LOTHHOEL DS
(=1) Cupsar dswelle ergsamsaw Hlapssl paLCundng
() s Havauifl FOUGESs ?

Sugar is converted into alcohol. In the above reaction what kind of process takes
place ? Which micro-organism is involved ?

waflgaiear &eurgs STHHTES auiflwims &@6T QFdng).
Begaflar Hrmeng @J%@U.HF& o La&@er Clgenm L‘Brﬂ@) S bl 6T
phaligen _______ S@ar Lreidlpg.

In human beings, air enters into the body through _____ and moves into
In fishes, water enters into the body through and the dissolved oxygen

diffuses into

Qariired HAapmds sreursde Glg,rr@to@'urrgj FgHu®B LrHDSSH enern
eflend@s.

Describe the change that occurs in a touch-me-not plant when it is touched.

[ Siplinys / Turn over




6180

28.

14l et 611 (1 LD ug@emuu Uy dg $GHS elev_emwd asngS]Eg.J C‘éa;rrlq.l_l_
QL_mgeer BlyliLs.

f,rBJ@ aﬁ]mm@ﬂuu@ san 2 COTGHIGET, &I 6m-6nL - QEDH, FHSE
FISHETHET) a ‘

urgreEn, wCrefwi, Comlwb, < sails _ sQbs. 5606m6uu5166]@g@

: -GeauafiCupplin@®n sfiley’ QurmLser wals@&E . NI
@Gphleaeamwuu)b urdlsdleamgl. Hlossflulle. o erer bl wenip

o (Haurs sTreTTelCasTH WL (HIDO®IDD LSFKMDULITS eurw) ___

" QeuaflGimmLii & a;rra)pf,]emu LDIT@!I_IFI'I_Lq_m@LD I_;a‘jl Q@Juu LOTMI S &I & (& H

' asrrr,rewrmrraﬂmg,]

L VF]ll in the blanks with suitable ¢ answers from tthose given in the brackets

-, (harmful, heavy metals, carbon dioxide, sulphur partmles)

29,

30.

_gas, causes chmate change and global warmmg

Generation of waste products which contain Mercury, Uraruum Thorlum Arsemc
and other ___ __are . to human health and env1ronment
present in the coal will cause acid rain and the release of " a green - house

£l

]

G]urr@rrjr,g,rrmg, Be@s . _
(1) o u9fl - @J,GD&SQIDH’GD LiFens 1ese, o 19f-rsir, QUi Grrelwn <

(<),) STevIFT; eml_oourru_@ Q&rr@eﬂl;rrBJ@ §g;(8u§

Find the odd one out : o ‘

(a) ... bio-alcohol, green diesel, bio-ethers, pétroleum.
(b) cholera, “typhoid, seabies, ‘dysentery. "

%;Dg)emeu& Gsllés 2.Had FTH@RISMETL lﬁ]mm@mmmﬂ)rﬂeﬁl@p@
CaibAsH&Eseb. i | o
(el LU s, g_r;rrL[S]r;“ e yenL, @lﬂu_l f}rr @@Lg}gﬂ ot f}rr G&CLHm,
LievL e eflend@aser, Wlemenan L6 @{am_) :

s
FREN

Pick out the appliances that can conserve electric energy.

(Fluorescent bulbs, copper choke, solar water heater electric water heater tungsten
bulbs, electromc choke.)



31.

32.

33.

. 34.

9
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Lorrgilumcrr Sl @um @UJ@JLD Slmul 'ng) @u,_m)rrg. @eréjaeodr

@mg)u_masu Qurr@ggws

‘Match the suitable renewable and non-renewable sources.

QUATTEIGEGT 3 A - B | C
@@muuQu@mamm%&  &l smpm | OQui Cireflwid
Ut Qup Quie i T
gﬂ@ '[D @ & anl_yge | @uipens eurw]| G Aw gefl < Hmed
GUGITIBIGHEIT e b

Sotrces _: A B . - C
Renewable " Coal - Wind | Petroleum
Non-Renewable Hydrogen | Natural gas Solar energy

25°C Qautiuflenauileh Ggeiqu a;smy&@;es@m G\g,aﬁ]l_L_rrg, asmg&@ws@m 2 e
(B@Jgurr(b\a;mma; s QsrdssLILLHarer GHILLSET epaid 6TIgIs.

() 168 NaCl 100 8. Bfld () 36 & NaCl100 & fflcd

(GO : NaCl @éir serydlpen 36 &) |

Distinguish between the saturated and unsaturated solution at a temperatute of 25°C

using the data given below. (Note : Solubility of NaCl is 36 g)
(i) 16 gNaClin 100 g water. (i) 36g NaCl in 100 g water. :
Wemeumeuareaupmier Wfes Hlaaamw Gflams s _ssms. a;mm_.gﬁlss i

(21) UTQreL &Sl - (<) GerLmBir
Give the dispersed phase and dispersion medium in each of the followmg :

(@) Cheese . - (b) Soda water
1Q6br6u(pLD <9|L_t_¢mmmrmu_| ﬁ]uuqa‘, _ _ ‘
gafloid sigm Hleop | aposmm ;5]66)93 Si@I&EL (D erawT |
@Carmiar 35.5 B 71 f '
gGoran | | 48 3
Fouf 32 | 8

Comp‘let‘\?;the table given below :
ELEMENT | ATOMIC MASS | MOLECULAR MASS ATOMICITY

Chlorine 35.5 71 , :
Ozone - T 48 1 3
‘Sulphur 32. _ e 8

1 ,@'@B"'la; / Tg'r'n over
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35.

36.

37.

10

Loy yailow srlly soGul smrsdlaid maus@EnbGurs smoy soCUL
gren Bipd rYflpg) ? o misEr LdaissTan efarEssmss Srelb.

Why does the colour of copper sulphate change when an iron nail is kept in it ? Justify
your answer.

56’&@ Csifpg o Qurmearsaiier pH wdiiy &G QarRss LT HeTeng.

Quimper PH iy
Qr$sb 7.4
genouwled Camm 8.2
oSefasir | 2.5
IO vwerum () <iGurefwr 12 b

SiLLamarmwl uguurie Gelg &Cp oder CsdaalsEpss
e wefl&sabd. |

(=) aplghsl AummeaTser s S 2 ML Wemal ?
() THGsHSL QUTHETSET STTH ST 2 DL WIEMal ?

The pH values of certain familiar substances are given below :

Substance pH value

Blood 7.4
Baking Soda | 8.2
Vinegar 2.5
'Household Ammonia 12

Analyse the data in the table and answer the following questions.
(a) Which substances are acidic in nature ?
(b) - Which substances are basic in nature ?

g .mU(B STgimal ALTI9ES) LweTL@D e

(meoy Bgliy penp / yeflu§iiy wenp)
A process employed for the concentration of sulphide ore is ____

(froth floatation/ gravity separation)



38.

39.

40.

41.

42,

43.

11
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s o Carsh LrsresgiLen Carpsraib <isH@ Qressoamed eranm @i,
upGPsmer el liugH@Gl uwetu(bd  @rssseemes
(Ag-Sn Qre&saeameu /Cu-Sn QFsss0enay)
Any metal mixed with mercury is called an amalgam. The amalgam used for dental

filling is

(Ag-Sn amalgam/Cu-Sn amalgam)

meurd sriugieLw LpGaidmientd 6ulqeunkIS@HeT QETDIEGLD. G a;LoFGSTg;s
SETENDSSTET STTETHMSE FaMis. ' .
Diamond is the hardest allotrope of carbon. Give reason for its hardness.

BLepafls Hmiys Spaman

Goligid GHluGGeug wry.

As a matter of convention, an anticlockwise moment is taken as

clockwise moment is taken as

GHi@ib aeeHfs Souisdpaman

and a’

148.4. Aepwerer em Qurmer 20 B 2 wirsHd Qmbg elws Qeuiu@&pg). -
sengee eubsmLbsgIb 26s Goussdler Cblopdng. o b LDWQJUITL.GG)I_BS .
grans. (g=10 /682 eTens.)

An object of mass 1 kg is dropped from a height of 20 m. It hits the ground and
rebounds with the same speed Find the change in momentum. (Take g=10 ms"z) ‘

QarHEsLL_HETeT Hme eLpavhIgarfied @urr@;’rgg)rrg) RETENME a;@ﬁ@ﬂq.é;a;. o
(Stemed e pdwed, @A bpd, i Wlen pHme, 2 uwilfl %mmw) e

In the list of sources of energy given below, find out the odd one.
(thermal energy, solar energy, hydroelectric power, biomass)

SioLlULs @GNs@ar Qar@aslul(Herer Qang)a;aﬂeu &rﬂmmmmmgpg
Coboshés Wemeub i L euamemeniLl ﬂu‘uqa;

(8168BT8D, SMAFD, smiue, sriw, srfw < E@an (), é{@]LﬂGbﬂUJLD)

Crimdlemaumiil

FSTRL o0 e CFEH6T

erélmblesreumi

Qeveomerdl L esTaHaET

Complete the table choosing the right terms from within the brackets.
(zinc, copper, carbon, lead, lead oxide, aluminium)

+ve electrode

Lead acid accumulator

—ve electrode

Lechlanche cell

[ SlpLiys / Turn over
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44.

12 -

QupiisL CeuliL <,hmed FGHNSE 6T(HEIS.

Write about ocean thermal energy.

45.

46.

47.

Euertar UL SH THSE HTHS 2ad ETHSL LwsSen Qmémmé; shunsd
& Q&ms. | |

Which of the compass needle orientations in the followmg dmgram correcﬂy descnbes
the magnet'’s f1e1d at the point ?

A B
&
@@mrr ;_mn SERTSHETTE 12 LSl_l_@as@ SJLILImed 2 Gierm Qun@m&;mmg, Ggefleurss

srewt  (ppueldme. . Sl GopUTLiamauyb igmars  &il
QeliugsHsTar QaaTele@ann Fnmis.

A person cahnot clearly see objects farther than 12 m from the eye. Name the defect in
vision he is suffering from and the lens that should be used.to correct this defect.

Qummsss
(=) é]LFQurrr‘rmm | () @aﬁ] Qa)e’mh)‘ _‘f‘
| (écb) SITLLTTE6U () f}srr QUENETIL! <ylq &ET
) aﬁﬂg@ qmumLqu, Qmm @mmurr@ (iid) @@@)mm | 1
(¥F) @_JDquv QUG @g,rremm(%(wra;aﬂ (iv) @@ @@ﬂu_las & GUOT GOl
Match the followmg : g o S | | "
(@) Myopia ‘ ' (i)  Convex lens
(b) Hypermetropia " (i) Hyperbolic mirrors :
(c) Presbyopia (iii) Concave lens '.A-

(d) Hubble space telescope - (iv) Bi-focal lens
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\Yfey- 111 / SECTION - III
(glLCLIamaeT : 20) / (Marks : 20)

GOy (i) aiblaumy NIGEINENIL LTI eflewm egid ;_r,rrsin@ edlanmsenéEs,

aﬁlml;umﬂé;a;mm. 4x5=20

(ii) Gg;ema{u_lrrm ‘@uﬁl&aﬂm UL LD GUen[s.

Note : @ Answer any four qﬁest"ions by choosing one question from each part.

48.

49.

(i) Draw Diagrams wherever necessary.
UGS -1/Part -1
S eTanLieur Gbans QubmiaTermir.

(=) Uphs GRiDséE Wsb Bm LIsSLEEEEH ouwhs Gaamw

CpmussGrysl el LaimarreniL TG!S, o
(%) @5s0LLAsd apab ap0sps Comisams 5OsHL Suigid.
Kala has de]jveréd_ a baby. ' :
(a) Suggest the immunization schedule for the baby, in the first six months:
(b) What are the diseases that can be _cured as per the schedule ?

, éﬁ(ﬁg} Qa;rr@é,a;l_'{ul'_@érrm,Qe;rrﬁ)a;‘mm @aisg usHaw yisd. Qeis.

(wamerCuimr®, :@GiT@m@]Lbl_;g Qgmir, euwrCut L i, DTSR 2 enm,
EPEDaT, SERT(HeuLLb, (peneT 2 ma&ET, 1guLrm Gl i)

@OW BIDY LETLOSMSE &bl erer CPET LITEISTUL 2 60m&er
RUHQAWwrSSLOTS Greisrgj A& LU DS 6o 6. o H @b
- 56 igule S| O hg) eTar Geueflliym @rievL & ésq.é;tt &em,r_r) |
o Siewisiu@ins. Quaawugid, Qrés BTeIhI& 6T’
Cupmgiwrer BE 2 mNEEG ——__eTatmy  Quuf. @_mmmuy_,m,
samBeuLsams b sHf GpmESLTS SeninpgiaTar o Ln Godai 2 DEE

___ erempy Quuwii. . MU SRR
Use words from the given ‘list to complete the following- paragraph.
(Skull, Vertebral column, Piamater, Arachnoid membrane, Brain, Spinal cord, Meninges,
Duramater) S ‘ C R

The central nervous system is covered by three protective coverings collectively called

- The outermost cover lying below the and ___ is
double thick and is called - The middle covering is thin and vascularised
and is called : . The innermost cover is a very thin delicate membrane and is

.closely stretched over the outer surface of brain and spinal cord is called

[ $®Lys / Turn over
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50.

51.

52.

53.

L@ - 11/ Part - 11
w&THEEE Caibmaulen eSS WIMmel? 6Ths eUmS w&THsF CEréEmE HETEnio

- ST&EIqIG! ? ereu ?

What are the types of pollination ? Which among them is more advantageous' ?
Why ?

sflepw erliLigamTad erHuBLD. oo LW&@LD CFudsamary G ig wieSl (his.
List out the harmful effects of burning coal. - : ' '

LGS - 111/ Part - 1T -
QémauHid Sigmissetlen Gure eramanilEemsamd 856661”&55&%]'@83‘:?
(1) 2 8. pLreen ;
(<) 23 &. Gamgwid |
(@) 40 &. sToSwid
() 14 8. lsHuwid
(2.) 32 & seourm ‘ v
Find how many moles of atoms are there in : 7 R

(@) 2 g of nitrogen T y
(b) 23 g of sodium | ' ‘ '
(c) 40 g of calcium
(d) 14 g of lithium
(e) 32 g of sulphur

3

Qarssrul_Gerer oL euaemruiled GCamgl L QL BIGMETS FGHS PO&I)
UL ré Hrliueb

Gl GT T 210CaH60T Siv&en SO HET
1 |CHs raCgei Fr&Se0 C,H, rréeangen
2 | CrmuCuen |CoHsyGrrinfer | LGTmienLen
3 |CaHy Gyl G _ QGyplear | Sl er

S

Fill in the blanks in the given table usir‘lg‘\ suitable formuiae :

SLNo. Alkane Alkene Alkyne
1 C,H; ethane __ ethene C,H, ethyne ‘
2 propane C;H, propene , propyne

3 C,H,, Butane _ Butene Butyne
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U@ﬁ - IV/ Part - IV

54. (1) ellawQeuef eSyrsmdr edamesen Heveowiseio B prar stigeugTe

weflg 2L afléd gL elleveraysanar < rreusnsresGeair, efleamesef
Hlenaviwirhiger LweruBgsLiLGAenper. @)danmnhslamar Bumutiu@®gss.

(=) F=G mym,/d? eremmiigy Ayt Lefléd mirtiQuwe o9 uaor SME Qulgaulb.
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“Space stations are used to study the effects of long-space flight on the human
body’. Justify. :

F=G m;m,/d? is the mathematical form of Newton’s law of gravitation, =
G-gravitational constant, m,, m, are the masses of two bodies separated-by a
distance d, then give the statement of Newton’s law of gravitation.
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Redraw the diagram. :

This diagram represents

Label the parts of the diagram.

Mention the principle used in the device denoted by this diagram.
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